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1. faeLjE 2. K& 13. () Which is correct? (i L 2E &)
3. F1EH 4. KB R (A) Ipaid NT$100 on the map.
e xEFE2%xhAE=10% (B) It cost me NT$100 to buy the map.
1 I saw an old friend .But I didn’tr____er his name. (C) Icost NT$100 on the map.
2 He is nine .He’s an e y school student. (D) Ispent NT$100 to buy the map.
3. Kaohsiung is in the s h of Taiwan. W~ RRFEE L 2%x8AR=16%
4, He made am e.He took my homework away. | (—)
5. Momecan’tdrive,sosheridesas rtowork. | A:I’m looking forward (1)____Uncle Tim’s farm next week
= URIESE L 2%x1388=26% B:Me too. There are so many kinds of fruit. I can make juice.
1. () Besure breakfast before you go to school. A:Cool.I planted an orange tree last year. I can’t wait (2)____it.

(A) toeat (B) eating (C) eat
) Remember

(A) bring (B) bringing (C) to bring (D) brought
) I decide my kids_____ Japan.

( A) not take; in (B) take ; to

(C) totake ; to (D) taking ; to
) There a baseball game next Saturday.

(A) will have

(C) will be going to

(D) to eating

(B) is going to have
(D) is going to be
) Won’t you hike in the mountains tomorrow?
(A) Yes, I am. I’m going hiking in the mountains.
(B) Yes, I won’t. I’ll hike in the park tomorrow.
(C) No, we will. We’ll hike there tomorrow.
(D) Yes, we will. We’ll hike there for a day.
) A it snowing in Japan now?
B:No, but maybe there
(A) Is ;will have
(C) Is; is going to

SNOW tOmOTTOW.
(B) Is; will be
(D) Will; will
) Ispent a day near Mount Fuji.
(A) skiing
(C) to go skiing (D) went skiing
) A does he go to the bank? B:Twice a week.
(A) How long (B) How often (C) How (D) What
)Tt me 15 minutes _____there.
(A) cost; to drive (B) spent; driving
(C) took; to drive (D) paid; to drive
) A:Do you know where the First Bank is?

(B) go skiing

10. (

B:Just going for two more blocks and you’ll see it.

(A) keeping (B) tokeep (C) keeps (D) keep
) Which is correct? (GE E#£ &) )
(A) Dad will drive us to Taipei this weekend.
(B) Icome to school by a bike every day.

11. (

(C) Mom rode the metro to work yesterday.
(D) Grandpa walks to the park on foot every morning.
) Which is correct? (iEE#E#))
(A) A:How long did he spend on the dress?B:NT$200.
(B) A:How much did it cost Ann buying it? B:NT$200.
(C) A:How did you get to Taipei? B: In a train.
(D) A:How long did it take Ann to read the book?

B :Half an hour.

12. (

a heavy coat because it’s cold outside.

B:By the way, (3) can we get there?

A:Don’t worry. Aunt Mary (4)_____us there in her car.

B:By the way, (5)____is the weather going to be like next week?

1. () (A) tovisit (B) tovisiting (C) visit (D) visiting

2. () (A)tosee (B) toseeing (C) see (D) seeing

3. () (A) how (B) howlong (C) how much (D) what

4. () (A) took (B) takes (C) is taking (D) will take

5.( ) (A) how (B) howlong (C) how often (D) what

(—) A: (6)____, how do I get to Fushing Junior High School?

B: (7)____the Fulu Bridge. Go straight for two blocks, and
you’ll see a furniture store( 1R 47) on your right. The
school is just (8)_____the furniture store.

6 ( ) (A) Excuseme (B) Sorry

(C) By the way (D) On the way
7 ( 3 (A) Walkcross (B)Cioss

(C) Walking down (D) Turn left

8 ( ) (A) next
(C) in front
E -~ Mk - 2%x1282=24%

=) Down by the Pond

(B) in the corner of

(D) across from

Anna and Jack took a walk by the pond. They saw an egg
in the mud. The egg was cracking. They watched it. Soon
a leg came out of the egg. Later a head came out .

The baby came out of the egg. It was a baby turtle. The
baby trutle looked just like its mom and dad. It had a head,four
legs and a little tail. It had a hard and green shell.

The baby turtle slowly left the egg. It walked to the
water. The baby turtle dove into the water and swam away.

1. () What happened to the egg?

(A) It cracked open. (B) Itrolled away.

(C) It fell down. (D) It fell into the pond.
) Which of the following is NOT true about baby turtles?
( A) Baby turtles cannot swim.

(B) Baby turtles have four legs.

(C) Baby turtles can walk.

(D) Baby turtles hatch from eggs.

) What does the baby turtle look like?

(A) Itlooks just like its mom and dad.

(B) It has a head,four legs,and a tail.
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(C) Its shell is hard and green. (D) All of the above.



(—] *Backpacking Tours

Look at the train timetable and answer the questions. 1.You can visit the sights according to your needs. You can
North Town _\ West Town West Town —\ North Town decide how much you want to spend on the trip.
TrainNo. | Departure Arrival TrainNo. © Di_apérture 1 Arrival 2.You need to be more careful when you travel alone.
i i 08:40 1202 06:25 08:07 3.Planning the trip can help your time management.
203 06:30 08:15 1602 . 06:40 08:42

[backpacking tour ¥ ELAkAT travel agency k474 saferd & & |

gﬁg ) g:f: ‘ gg:g 1230212 7 ggi :: - gg:; Itour guide ¥ #according toR 3§ alone & 1§ management%fﬁ
109 07:31 09:05 606 - 07:00 09:02
609 07:46 09:45 206 07:15 09:15 8 () Which might the writer agree with?
2o i G0 C 07:25 09:42 (A) Following a friend’s travel plan is a good idea.
Full Fare Student Tickets (huy tg:’t:ﬁ(;'sc';?z e, (B) Being safe is important when you plan a trip.
SemiarliSadi $1,490 S p— (C) Ifit’s your first trip to a different country, you should
Business Seat $2,440 $1,220 $2315 take a backpackig tour.
Student tickets are only for students with their student IDs. ( D ) A baCkpaCking tour is safer.
Group tickets are only available on weekdays. 9 () Allan plans to go to London. He is looking for
limetqble_ iﬁﬁﬂﬁ departure 5 arrival &% full fore 2% standard 5% available B information online. Which kind of travel is he planning?
4 () Tina visited her mom in West Town. She took the 803 Spending 10 days in London
train there. How long did it take her to go to West 1.1 Where to Stay for 10 Days in London
Town? 1.2 Saving Money on London Sights
(A) 1 hour and 34 minutes. (B) 1 huor and 59 minute 1.3 Walking Tours in London |wa1king touré;t%/"-ﬁﬁéﬂ
(C) 1 hour and 39 minutes. (D) 2 hour and 14 minutes (A) A backpacking tour. (B) A group tour.
5 ( ) Mr.Wu lives in West Town, He’ll go to a meeting in North (C) A school trip. (D) A business trip.
Town. The meeting will start at 9:00, Which train can he 10( )Which is true?
take? (A) A backpacking tour needs a tour guide.
(A) The 806 (B) The 204 (B) As abackpacker, you must plan your trip on your
(C) The 606 (D) The 206 own. [backpacker’;‘}" @,Ig‘
6 () According to the timetable, which is true? (C) A group tour is dangerous.
(A) Ken’ll take the 603 train and go to West Town at 11. (D) A travel agency will plan for a backpacker.

(B) Jill took the 805 train, snd she watched a video for  |(JT) Look at the street map and answer the question.
| < . 5,

about 3 hours on the train. A & /

e . )
(C) Ann bought a ticket to North Town with her student _station g:é 1 ;S oeb Sh?p g (&
ID, and she paid $745 for a standard seat. BRSO ® é? V:B Et“( -t- (%]
(D) Alen will take 9 students to North Town on Saturday. 3 g o 5@ iy - {ee L . |
He’1l have to pay $14,150 for 10 standard seats. ' postoffice/ 5”_;’ e S thegtir &
7 () James lives in North Town.He is a high school student. He S ‘ b°°k3t°%\ % i % '
is going to buy a business seat to West Town and back. ' . White étreetc M
But, he forgot his student ID. How much will he pay? ' : 'g ¥is 7' “Ej AL
(A) $1,490 (B) $1,220 (C) $4,880 (D) $2,440 & C *‘é © café
& T B .
Group Tours vs. Backpacking Tours 11.( )Hereis the road sign Alan saw when he was riding his
People like to spend their vacations in other countries, bike to the train staion. Where did
but before you decide where to go, ask yourself this quesiton- he most likely see the road sign?
which is your favorite, a group tour or a backpacking tour? (A) A (B) B
A group tour means a travel agency will plan everyting for your (©)C (D)D ‘ _
trip. On the other hand, a backpacking tour means you travel by|12,(  )Tim was going home after buying a cup of coffee, Out of
yourself and need to plan everyting on your own. " the café, he turned right on White Street and then he
Here are some differences between them. turned left on Gray Road. At the end of Gray Road, he
*Group Tours turned right and walked along Brown Street. He turned
1. The travel agency will do the planning for you. right on Yellow Road, He got home in a few minutes.
2. It may be safer to travel with a group. Where did Tim NOT pass by on his way home?
3. Your tour guide knows the place well, and you may learn a (A)The bookstore. (B)The theater.
lot from him/her. (C)The CD shop. (D)The post office.
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= AAME 1%x5 A=5%
) (A) He wants a dozen eggs.
(B) He plans to hike this afternoon.
(C) He just came back from the bank.
) (A) Of course, I will.
(B) I will go on a trip.
(C) Yes, I will leave today.
) (A) Sorry, the lady in front of you just bought the last
flower.
(B) Ah, I have no idea.
(C) I have a map, too.
) (A) Twice a week.
(B) At six o’clock.
(C) About one hour.
) (A) Where is your lucky money?
You have to report it to the police officers.

7.4

8.(

9.(

10.(

(B) Don’t worry. I can bring my Jlucky money with me.

(C) That’s OK. T’ll pay for your dinner, and next time
you can pay me back.

= T 2%x5 #=10%

11.( ) (A) She wants to learn to ride a scooter.
(B) She wants to learn to ride a bike.
(C) She wants to learn to drive.

12. ) (A) He doesn’t have any money.

(B) It costs a lot of money.
(C) It’s too small for him.

13.(

14.(

15.

) (A) She is buying pancakes.
(B) She is cooking dinner.
(C) She is doing the shopping.

) (A) Watch birds.
(B) Hike.
(C) Ski.

) (A) They are going to take the bad guy to the police.
(B) They are going to report the bad guy to the police.
(C) They are going to upload the video to the Internet.
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1.bakery 2.public 3.convenient | 4.nature
- xEFxE2%x5AA=10%
1.remember 2.elementary | 3.south 4.mistake 5.scooter
=~ XUKIEE  2%0x13 A=20%
1L.A 20 34 4D 5D
6.B 7.A 8.B 9.C 10.D
11.A 12.D 13.B
W~ LR FIRE  2%x8 AA=162%
1.B 2.A 3.A 4D 5D
6.A 7B 8.D
I~ BanEy  2%x12 RE=124%
1.A 2.A cHE 4D 5B
6.C 75 8.B 9.A 10.B
11.C 12.D
A~ EA20%
—~ P E  1%xb AA=50%
LA 2 3.A 4.A 5B
=~ ARME " P 1%x5 B=5%
6.B 7.A 8.B 9.C 10.C
= FEkEs L 2%x5 A=10%
1.c 12B 13.C 14.A 15.B
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1. 2. % 4, 5.
6. 1. 8. 9. 10.
11. 12, 15

W LR FEE L 2%x8 RE=16%

I 2. 5 4, 5.
6. T 8.

Z -~ BIR AR 2%6x12 RA=24%

1. 2, 3. 4, 5.
6. 7. 8. 9. 10.
11. 12.

A EA 2%
— O E  1%x5 AA=5%

s 2. 3. 4. 5.
=~ BAME T 1 19x5 M=5%
6. s 8. 9. 10.
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11. 12. 13. 14. 15.




